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202 &E # 29.66 20 B 6.09 20F % H 34.12
21)1I 7 H 29.50 200 1§ W 5.98 21|/ H  HT 34.01
22( £ 4t W #F 29.42 22| 46 W & 5.97 22\l /& 33.99
23| B OH 29.40 231+ & )l # 5.90 23|l % HT 33.98
24|77 ™ HT 28.77 24|18 @ # 5.86 24|12 & # 33.60
25|% #  HT 28.60 25|= = T 5.79 - m BT M E 33.39
26|%F &8 Il #t 28.46 - m BT M F 5.78 251F g T 33.31
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15Kk & H 39.02 14| F H 67,808 “E = wm 18,386
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17| 46 W # 38.24 - =1 H 67,053 16| B HT 17,922
18|& & H 38.19 - BT A &t 66,475 - g2 H 17,652
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40. BRRE 14 L4-YBEH 41. BRRE144-VEH 42 BRRE1HL4-YEH

(8H) (ABR) (ABRS)

JE 132 RigE (82) NI 45z FRigE (82) JE 132 RiEE (82)
1| 46 W & 3.49 1HWeg @ # 24.09 £ 4 W # 2.84
208 @ 0w 2.73 2| 4t W # 21.83 2IT ™ H 1.90
I+ &= & 2.48 3+ E NI # 21.27 3| F H 1.84
47 W H 2.21 aill  #@ HT 16.07 45 FHOH 1.82
5| ¥ HT 2.20 51l & # 15.69 5%F P ™ 1.80
6% H ™ 212 6%k H ™ 15.68 6|X Il 1.79
7N Mk ™ 2.10 1@ & H 14.97 TN H W 1.77
8|= = H 2.09 8|&d % HT 14.90 8|+ & Il & 1.76
9jF F H 2.08 9= #F HT 14.77 9| i HT 1.72
wxEx B 2.03 wxEx B 14.64 wxEx B W 1.72
1(# B ™ 2.00 MEz & H 1458 nE = 1.71
RIXME AT 1.99 12l & & HF 14.46 RIXMEAET 1.71
13| B ™ 1.99 13[4 By T 1417 13| B ™ 1.70
14X il # 1.99 - i B 13.59 14 % H 1.70
- il H 1.98 - m BT & E 13.58 15 ®| T 1.70
- BT A& Et 1.98 - B & F 13.56 - il H 1.70
15|38 18 HT 1.98 14(= = H 13.53 16 [ HT 1.69
618 R T 1.97 1548 | 1 13.47 L4 D L| R R~ 1.69
17X B w™ 1.97 16| KfME @AM 13.26 18|= = HI 1.69
- ) S & 1 1.97 17|18 B & # 13.25 - OB A E 1.68
18 &  HT 1.96 18|38 18 HT 13.13 19X ¥ 1.68
19|k 4% H 1.95 19|% & Il #& 13.00 20(# Fr H 1.67
2F < W 1.95 200K & HT 12.87 2118 W ™ 1.66
21|1= & H 1.94 21182 =2 12.85 22|B & A& H 1.65
22|[  [& H 1.94 2" & F M 12.83 - Br & 1.65
23|H & K HT 1.94 21F P ™ 12.79 23|1= &  H 1.63
2482 W W 1.93 24| F H 12.78 24|58 1§ HT 1.63
25|% i HT 1.93 25| P& HT 12.77 25| K 0 &R 1L 1.60
26|k & H 1.93 2610 Py T 12.56 26|k & H 1.60
2710 F M 1.92 27| %7 ™ HT 1253 2711 & w 1.60
28/ B & # 1.90 281k ¥ ™ 12.43 28| iip) 1.58
29| K #0 & 1L vh 1.89 29(K #0 &R W 12.23 29|@ & HT 1.55
(F F F M 1.86 30| B HT 11.53 | F M 1.54
Nl 7 HT 1.86 NE W ™ 11.22 31|18 B F #t 1.48
32|  F# H 1.82 20k % H 11.02 32|% & Il ¥ 1.45
B|lE & T 1.79 3B)m  H  H 10.76 3w OH 1.40
4k # 1.77 d|E B 9.75 MR F H M 1.40
3/5(=  H H 1.72 BIE M # 9.00 35| B 1.35
36|%F &8 Il & 1.71 36|T 4t W # 8.40 36|Em H H 1.33
37|10 B M 1.70 37|k ¥ HT 7.80 37|18 ®Bw # 1.31
38| 4t W # 1.60 sl £ # 467 38| 4 W # 1.28
NE E # 1.36 - 2 E M - PE E # 1.28




43. BRE 14 L4-YBEH

44 BRRE1B4-VEE

45 BE1BH4-VEE

(sE%) (8H) (ABR)
JE 132 RigE (82) NI 45z RiEE (M) NI 45z RiEE (M
R & F & 2.76 1l£ 4 W # 23,829 1T 46 W & 74,402
2% H ™ 2.36 200 £ & 21,945 2|1% % H 67,591
3| ¥ HT 2.36 K] [TT - S | 17,521 3l % HT 49,199
4+ &2 Il #& 2.34 48 @ #H 17,337 A PFF T 46,253
5| F 4t W # 2.27 51  # & 16,940 5| K # & W 44814
6= H H 2.24 6|2 &8 JIl & 16,785 6l £ #F 44,768
71E% % OH 2.22 7| 4 W & 15,271 7NX B w™ 44,088
8|F T H 2.20 8|H R X HI 15,155 8|Bf 1§ HT 43,754
9B B F # 2.19 il BT T 14,616 IE F H 41,426
g @ 2.18 0% H M 14,231 10/H & & HT 41,276
" @& Hr 2.17 11| B & # 13,910 1|5 B H 41,168
12l B 217 12| % H 13,855 12l & # 41,091
13| 18 HT 217 13X ¥ wW 13,792 BEF = 40,119
14| B H 2.15 14 [ ™ 13,574 148 B & # 39,736
15|10 P T 2.11 15+ & )l # 13,291 151k Il 39,576
6| XMEHET 2.11 16| T  HI 13,279 16| K & HT 39,226
178 W 2.10 17/ &  H 13,255 17(FF B HT 39,217
- B # 3 2.10 1818 W 13,155 184 By 39,044
8x B 2.10 19|K & HT 13,113 9E W ™ 38,811
19|= = 2.10 - BT & &t 13,085 20(% H H 38,734
200 B 2.10 20t %% H 13,001 21(& H H 38,307
- m BT A § 2.08 21|/ He  HT 12,964 - B & F 38,130
21/ & H 2.08 - I S 12,800 - m BT & § 38,104
22| % HT 2.08 - il it 12,701 - H it 38,094
- i E 2.08 20 B’ ™ 12,648 220 #  # 37,936
BF P ™ 2.07 23|1= = H 12,624 BE R ™ 37,451
24K ® H 2.06 24| K 0 & Wi 12,523 245 & H 37,364
25\ P& HT 2.06 2B1F = 0™ 12,489 BRXIMEHEHT 35,946
26K 0 & 1L H 2.06 26| KIS HETM 12,471 2% B m™ 35,512
271\  F  H 2.05 27| B HT 12,391 2711 P 34,656
28|= 4 HT 2.05 28x B ™ 12,386 28|= 4 HT 34,447
29|F < W 2.02 29|t Bk H 12,226 29|k 4t W #F 34,281
0|X 1w 2.02 0| B ™ 12,204 0|E E w™ 31,729
N R ™ 2.01 31| H 12,185 | ™ H 30,890
32/ & K H 1.97 RWE F O 12,158 RNE F H M 30,328
3B Hw # 1.94 B\BE B HT 11,889 3Nl 7 HT 29,273
4| B M 1.89 X Nl 11,760 U= = H 29,228
35| db W # 1.86 3B|=  H HT 11,577 B|EFE FHOH 29,148
B £ 1.84 6|l 7 H 11,525 36|%F & Il & 28,748
371/ & w™ 1.75 3NN\ E & w™ 11,461 37|18 Bw # 27,266
BIE E M 1.60 B|E F H M 10,966 38|+ E N M 19,469
39|% & Il # 1.00 NE E M 7,741 - g2 & # -




46. BB E 1 H 4 -UE 47. BERE 1B 4 -UE 48. 1 AY-UEER

(ABES) (s %l) (BfiminE)

JE 132 FRigE (M) JE 132 FRigE () NE 132 FRigE (M)
mm £ # 24,300 1@ & # 8,438 W& % H 552,957
2| 4 W # 21,668 2| 4t W 7,819 2R & # 550,976
3% & NIl # 14,409 B E # 7,598 XM # 533,034
4 HFx 0## 13,921 4 @ O 7,586 488 B & # 517,674
5|11 B 12,793 514+ & Il # 7,140 514+ & Il # 514,667
6|5 % H 12,190 6| & ¥ # 7,091 6|% ¥ H 512,462
1+ & M 11,953 7Wm £ # 6,648 71 % H 510,264
8%k H ™ 11,941 gjIl  FHm 0w 6,576 8|8 @ 506,688
9H & X Hr 11,867 9% H H 6,463 9= 4 H 503,499
10/ T HT 11,740 10|  # HT 6,411 10| K #0 &% LU ™ 490,332
11T 4 W # 11,305 1ME H § 6,292 ME F B 488,475
122(F P T 11,229 12(= 48 HT 6,265 122F < 488,268
13(x ¥ 1 11,211 132 & 6,251 13[4 By T 486,846
148 H 0 10,887 14H & X HF 6,251 140 PFr T 486,539
15(FF B HT 10,713 15|k & Hr 6,153 15| w1 HT 486,471
16| B & # 10,526 16|KX #0 &% L /1 6,150 6| KfME @AM 481,169
17(#0 PR T 10,464 17 B ™ 6,123 17/ & 480,357
18|= = Hr 10,454 18 R 6,096 18X & Hr 476,310
XME AT 10,410 19/ B T 6,095 - B & 3 474,727
- B # 3 10,136 20| B ™ 6,091 - BT E 474,154
2F = 10,128 - i H 6,062 - i K 473,985
- BT E 10,025 2018 = ™ 6,061 - g2 B 473,729
- il B 9,987 - m BT E 6,040 19(F P T 472,223
21|/ H  HT 9,907 22|85 B HT 6,011 20 E 471,468
2|5 & 9,902 23 & HT 6,010 21|& Hx HT 469,990
28 K’ W 9,894 24() R T 5,998 2%x B W 468,332
24\ [& HT 9,793 25| %k HT 5,989 8% H 0w 466,284
25| F H 9,650 - BT & &t 5,980 24\ [& HT 464,382
26|%F B 9,630 26(t%k H 5,954 258 W 462,792
27|k i HT 9,520 211k ¥ ™ 5,905 26|B8 18 HT 461,352
28| £ % HT 9,349 28|58 e HT 5,898 270 & HT 460,357
29X o # 9,204 29| [ H 5,829 28| B HT 457,092
0| K ® H 9,152 0| T H 5,804 29" & F M 455,422
N&E B 9,118 JNXKMEHETT 5,754 0/l 7 HT 450,776
321/ & H 9,088 201 = 5,701 3B & K H 448,192
BE | M 8,890 B|R HE H 5,566 2= = 447,175
34(K F0 &R Wi 8,802 4|E FOH 5,444 BX ®E T 441,588
BNl 7w HT 8,785 BNl 7w HT 5,298 4|8 8 Il ¥ 427,764
6|= # HT 8,781 6|X I # 5,244 35|k 46 W 418,160
INHE & HF M 8,318 378 B &F # 5,082 36| 4 W # 408,703
BIE E M 7,804 38|%F & Il # 4,375 7| Hwm M 402,694
9|BE 18 HT 7,251 9|F 4 W # 3,601 sl £ # 401,062
9| B M 397,399

40|E B B & 362,636

- #H & &t 361,158

41|88 &l EAH E &R 358,429




49. 1 AY-UEERR 50. TAY-VERR 51 TAY-VERR

(70 LA E—#8) (70 LA LB W AFTEE) (RRAEIR)

JE 132 FRigE (M) JE 132 FRigE () NE 132 FRigE (M)
1% % 713,360 "X Jm # 1,107,768 W& % H 425993
2| % H 648,033 2% # HT 801,141 21 B & # 416,050
IR ' M 637,698 3|7 T HT 736,723 N 7 Hr 313,220
488 B & # 630,834 Al H T 687,537 4K ®OH 281,985
5% % HT 624,814 5% < T 635,148 5|2 & m™ 233,750
6|= 4 H 619,320 6| db W # 621,430 6|l th H 221,649
g W m 588,226 M R T 612,851 7|88 # E B E R 197,147

8| X & Lh 586,713 g\l @ HT 606,014 8| B HT 196,378
9xX M # 585,872 9H & X Hr 588,988 - B # 3 190,922
1014 B 585,735 10X ¥ 570,903 OBf 15 Hr 189,684
1 £ # 583,359 MXME AT 561,143 1011 PFr T 186,230
12| F H 575,823 12(X & Hr 558,948 "M B 181,648
13|+ # )l # 574,685 13|58 % H 558,315 12 H 180,040
14(#1 Fr T 569,435 14\ P& H 557,986 13| F H 176,015
150/ & HT 568,094 15 By 556,409 - m BT A E 173,614

- B # 5 567,030 16|= 48 HT 555,991 - 2 H 173,186
16(F <= 564,312 172 @ # 521,593 14(= 4#8 Hr 170,649
17\ 3 HT 559,463 - ] H 515,964 - ] it 169,409
188 | T 559,350 18| K 0 &8 Wy vh 510,435 15k ® ™™ 168,515
19 B HT 558,889 - m BT & § 509,650 16(F P T 167,813

- BT E 556,234 - g2 K 507,364 17|= = Hr 166,602
- =1 H 556,049 9E K ™™ 504,996 188 B T 162,744
- il B 553,012 201= = H 499,527 vEFE <= H 162,602
201= = Hr 550,705 2108 W ™ 491,408 2008 W 156,271
200K EM 547,041 - B & F 484,279 - #H & &t 156,137
2E E# T 546,859 2E B W 480,047 211 B ™ 156,099
23 F 0 546,567 23|l % HT 475,855 22/ & HT 155,803
248 @ # 545,187 24| F H 465,592 23|% & HT 152,647
25|68 18 HT 545,118 25|l E EEME R 435,658 24K #0 &8 W 146,209
26|)Il @& HT 543,898 26 & HT 431,377 25|@ [’ A HT 145,865

27| X i HT 543,365 2711 e T 418,856 26| K= BT 140,212
8% H ™ 542,578 28|+ & Il # 411,118 27\ H HT 128,986
29|k 4t W # 541,831 29" & F M 409,125 28|l B HT 127,407
V)E B W 537,202 - #H & i 406,272 29| W HT 121,513
NE B EH & 533,096 0|E B B & 395,777 | @ # 118,188
320 [’ A H 529,077 3N|FE B H 382,149 NE B E & 112,464
BXx ®E T 525,854 RWAE & W 380,426 ML F M 104,040
MIF fE 522,359 3B)m  H  H 378,997 3|+ F M 97,858
3BT T H 518,865 4|88 H & # 355,114 4lx N #H 86,961

B & F M 518,748 3B\ 8 HT 299,381 K1 E v IS G T 81,687
37\m H HT 507,017 N1 £ # 284,173 B & F M 81,640

- #H & & 439,760 37|1% 8 Il ¥ 241,515 NN E M 66,400
38|T 4 W # 435,778 Bl F M 212,625 8|T 4 W # 47,118
9| B M 406,626 RITE: IS G T 209,459 RIS] 1| N R 43,772
40|% B Il # 404,251 W0E EF # 137,634 40|% B Il # 27,430

41 |EwF EMER 341,980 - 4w # - 41|t 4t W 790




52. TAY-UBER 53. TAY-UBER 54. 1TAY-YBER

(BfiminE) (70 LA E—#R) (70 LA E B3 A4 AR 8E)
JE 132 FRigE (M) JE 132 FRigE () NE 132 RIgE (M)
W& % H 494,880 1|1& & H 575,595 1"Wx n # 1,026,381
2R & # 492,530 2R & # 571,733 2IT W H 634,710
3+ # NI # 465,752 3| H HT 553,463 e H ™ 609,533
4 @ O 448,446 4t % H 535,990 4% B H 568,195
51 Il # 446,168 5B B & # 530,152 5/l 7 Hr 559,194
6|BF B & # 435532 6|+ Z Il # 525,692 61F < 538,236
INF P ™ 425,564 MM E # 506,854 71 BT ™ 517,739
8|l 4% H 420,231 gjIl  FHm 0w 487,919 8| & & H 514,882
9% ¥ H 412,681 98 W W 486,124 9| Bk H 488,726
10/ & 408,587 100= 4 Hr 485,714 105 % H 485,312
1M# Ffr ™ 407,796 1MLt 46 W 485,629 1Mx ¥ 480,627
22K & F & 404,275 128 @ & 485,149 12(= 48 HT 460,174
13|= 4 HT 403,323 13| NI # 478,790 13| By 450,306
14F = H 399,894 14(= = H 477,225 “HXME AT 442,205
1511 @& HT 398,280 1511 @& HT 476,819 15|k & Hr 428,317
16({A & & H 396,958 16|11 Fr T 474,577 - i 5 426,247
17\ T Hr 396,777 17\l & HT 474,082 - BT E 420,594
18([ P& HT 394,713 18(F P T 471,353 16|= = Hr 419,865
9% H H 394,483 19|H |/ X H 469,417 - =} H 418,977
20| Hx HT 394,355 0% B ™ 469,111 17| K #0 & W 416,170
21| By T 393,423 - B & F 467,516 188 ®| T 408,898
22|k i HT 392,509 210 & ™™ 463,253 - B # 3 397,877
- m BT A E 390,217 22K #0 &R W T 458,902 wvE B W 396,481
- 2 B 389,873 28 = T 456,828 208 W 394,798
- il B 389,185 24|18 R ™ 456,702 2118 @ # 392,815
23|1= == H 387,468 251% H ™ 455,901 22|+ & I # 389,853
24/ R 387,355 - m BT & § 453,909 23|l % HT 375,181
25| KF A WL 387,285 - = B 453,739 24|F P ™ 373,952
26|%F B 384,966 260 & HT 452,753 25| F H 368,452
2118 W 381,681 211 & % M 452,372 26| & F M 361,123
2| XKFMEHETM 380,147 - m 5 449,848 27|t # E A E R 360,736
29| F H 375,469 28|E B EH & 446,613 28\ & HT 349,306
o6 & H 370,579 291K ® H 446,109 - #H & & 347,445
3£ 4 W # 368,979 0(F F# H 439,255 29|E B B & 342,698
32| #  HT 363,690 INE B ™ 435,563 0|E & ™ 333,440
B|X B} H 363,352 R20F F H 431,904 & H H 329,757
RZAL | I S G © | 361,549 B|EX B ™ 429,371 32|1FF EHT 301,751
3/B|BE 18 HT 361,037 JKXKMEHETT 426,368 3388 B F # 300,253
36|%F 8 JIl 358,148 3B|Em  H H 424,194 i £ # 235,653
7| Hwm M 354,053 36|Bf 15 HT 419,096 3BT 4w # 220,050
38|T 4 W # 351,435 7|7 W HT 418,768 6|BE 18 HT 218,505
I £ # 342,219 38| 4t W # 379,758 37|1% 8 Il ¥ 193,595
- BT & 318,925 RICTE: IS G T 366,971 Bl F M 188,780
40|E B B & 314,864 - #H & &t 346,835 RIoTE: IS G 5 158,470
- #H & &t 298,749 40|% B Il # 314,160 WE EF # 128,580
41|58 &l EAH E &R 268,986 41 |EF EMER 242,307 - 4w # -




55. TAL4-ULEKR

(RRAER)

JE 132 RIgE (M)
W& % H 398,806
21 B & # 398,097

3 #@OET 287,246
4K E HT 255,481

5|52 & T 221,052

6|t 4 Hr 200,243

71 BT ™ 170,809

8| Fl E A E R 169,018

- B # F 168,843
oBf s HT 163,514
10/ # HT 162,916
"ME B ™™ 160,950
121 Be 154,355

13 H 151,616

- BT E 151,080
- g B 150,609
14 F H 148,330

- il it 146,764
15|=  #  HT 146,362
16\a & HT 143,530
17|= = Hr 143,289
18X ¥ w™ 142,283
1918 ® w™ 142,205
20F = m®m 140,684
2008 W 134,076

- #H & &t 131,850
22|% i HT 131,198
23 B 0™ 129,885
24H & X Hr 128,493
25(K #0 &8 Wi 115,539
26| K= BT 114,932
271\ [ HT 110,771
28|/ Hn HT 105,618
29| @ # 104,314
0| T H 93,864
NE B EH & 92,267
20 Fm M 86,156
3|+ F M 77,058
UE F F M 75,589

K1 E v IS G T 72,083
6|X I # 69,354
NN E M 48,870
38| 4t W 40,678
N £ # 33,557
40|87 & Il % 27,430
41| 4t W 0




